Answer Key 1

1.1: 1, 13, 22, 31, 32, 39, 41, 51, 55, 63, 64, 76, 87
1.2: 15, 16, 25, 34, 40, 45, 50, 62, 67, 76, 79, 85, 88, 100

1.1

1) (Note these are just examples) 13)
a) 5 (x+2y)+3z=x+(2y+3z)
b) _; The Associative Property of Addition
C p—
) 4
d) 2
22) Distributive Property,
) perty 31)a) 2[6-3 |=2.6-2.3 24 123
(5x+5y)=5(x+y) 2) 3 32
 (sed)1-4)-2 110
4 5 4 5 2
2 39)
2 3 61 1 8 a) x>0
R R R R b) 1 <4
3 caxrw
(Note: improper fractions are your friend) d) -5<x< 1 or
2.1 2.1 9 3
b) 5 2 5 2 :mzi.&:3 x<landx>75
1,3 1,173 103 3
10 15 10 5 10 e) [p-3|<5
41) 51)
a) AU B ={1,2,3,4,5,6,7,8} [2,00)
b) ANB={2,4,6} x>2
55) 63)
—2<x<l1 [-4.6][0,8)=[0,6]
(-2.1] L0 N
_2‘ ! N . . Fi




64)
[-4,6)U[0,8) =[-4,8)

-4 8

——00—>

76)
7 _—_1_|49 51 |54] 54

1521|105 105|105 105
2333 233 18
3.5.7 5.7 35

87)

L+2(x+y)£108

a)

5(12)+2(6+8)=60+28 =88 <108

Yes, it will be accepted
4(12)+2(2(12)+2(12)) = 48+96 =144 > 108
No, it will not be accepted

b

L)+2(9+9)s108

L+36<108

L<72
So the greatest acceptable length is
72 inches




1.2

15) é/a_2 16) x_%

25) 34)

) VTS =335 =35 p 2
2z

J48 \/E
b)) Y2 = 22 =\16=4
)\/5 3
)@g/ﬁ:yz-z-z-yzssz
C
P23 =233 =2.2.3=632

b) (2a3a2 )4 = (ZaS)4 =2'a* =16a”
c)
(—322 )3 (223) = (—3)3 z%.22° =-547°

40)
a)
104 10

x'z2 [ 2x’y? ’ B x'z? 22 x0y* C4xTy"  x
[4);5 j( i j - 4ySZ6 - 4ySZ4 _yz4
b)
(VS2)3 7"356 9 2
= =rs

2 —6 4
-3 2
(rs) res

45)

4
a) Uxt=xt=x'=x
8
b) Y16x° = 416" = 2x* = 2%

50)
a)
125 +a5 =235 145 =

575 +3v5 = (5+3)V5 =845

b)
Y54 =316 =272 -82 =
332-282=(3-2)2=1"2

62)
a)

T o
(4b)2 8b4j=x/1b2 8b* =16b*
b)

45q° =454°
67) 67b)
a) ) 3 %
33V s 5, 32x°y 2] 2 3
ik )1 h 8;?—5 = 4st* ( = 325x2§; -
(S4178)4 5 leg y




